Calculating Acceleration
Science 10 Notes
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Relating Distance-Time and Velocity-Time Graphs
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e Acceleration is measured as m /S
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Calculating Acceleration

e Remember the relationship between acceleration, velocity and
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Example 1:

A car accelerates from rest. It reaches a velocity of 8m/s [N] in 4 seconds. n }
What is its acceleration? N ﬁ,‘lr st‘r mans 0 mJs.
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Example 2:
A motorcycle goes from 5m/s [E] to 2m/s [E] in 8 seconds. What is its

acceleration? Y
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Example 3: o s -, 5?5

Frank is in a car accident, and his airbags help slow his velocity from
+22m/s to Om/s in 0.5 seconds. What is his acceleration?
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Example 4: Lﬂ\
Frank was in a car accident because he was driving recklessly. His car ca

accelerate at 8m/s’. If he was driving at a constant speed of +15m/s, how
long did it take him to accelerate to +22m/s?
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Example 5:

I’'m on a boat, and traveling east at 6m/s. The boat accelerates at
0.5m/s?[W] for 5 seconds. What is the boat’s final velocity?
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